SOSLSESCTITICS
SOSESISTETTITS
0’0 0596656565
S S S O S
2 S e eI IS IS IS S
e
P T O D S e e
e —
PSS e

v &
n\ 4
et

SIC-7~SIC-12=30°

SIC-16=15'

_.-/‘.-“‘H,_
SIC-7~81C-12=30°
SIC-16=45"

ray
=18

SIC
TGS EISEEE (BT SHHR)

4-jaw scroll chuck plain back, solid jaws
(front and back mounted)

MERENBRTIFZREF - JEIBEBREDPL -

EETHNRE - BEMS -

- RSTEMERETESCRIMER -

AEMERAKEMNEE ERARSELEE  BRASR—HK
MEMF A -

A w N~

L
Back Mounting

@D
ZA

¥ [— ]

——l.

-

-\ L
' Front Mounting

{7 : mm

SIC-7 192 765 155 172 58 55 3-M10/3-M10x80 77 215 29.4 11 11.0 2500 2000 14.8 0.06 D4-0180 / @56-0170
SIC-9 232 84 190 210 70 6 3-M12/3-M12x90 87 24 356 12 15.0 3000 2000 23.2 0.16 05-0220 / ©62-0210
SIC-12 310 96 260 285 105 7 3-M12/3-M12x110 110 30 456 14 21.0 4200 1800 47 0.58  ©10-0300 / @86-@290
SIC-16 405 122 345 375 160 87 —/6-M14x130 146 42 56.3 15 25.0 4500 1500 107 1.72 @30-0380/@110-0360



